FIP 2 p355 13 19 25 26 29 34 36
13. 3 X 27 = 6 or about 18.8 radians

19. 1.8 X 2w = 3.6
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W=y
3.67

W="9

w == 1.3 radians/s

1 revolution 27 radians :
9
25. 50 seconds 1 revolution = 0.1 radian/s
x 500 revolutions 1 minute 27 radians =
26. 1 minute X 60 seconds X 1 revolution o 02"_1
radians/s
29. v = rw

v = 4(27.4)

v = 109.6 ft/s

120° 60 seconds 1 revolution
34a. = 20 rpm

1 second 1 minute 360°
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34b. 120° = 120° X Tq
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W = T U= rwo
2 v=5(%)
w = ‘f— v =10.51n/s
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@ =—3—
36a. r'—-{)‘d v = —?-
r = 5(80) or 40 v = 40(%)
v == 5.6 ft/s
)
36b. v = ry
2%
8 = 40(7)

t=31s



